Match List - T with List - IL

List -1
(A) National Gallery of Modern Art (NGMA) I
{B) Kala Bhavan {I)
{©) Metropolitan Museum of Art (Il
(D) Slade School of Fine Art (V)

List - II
Shantiniketan
New York
New Delhi
London

Choose the correct answer from the options given below :

(1) (A)-D), (B)-(T0), (CO)-(ID), (D}(IV)
(2) (A, (B)-(1), {O-(ID), (D}(IV)
(3) (A, (B)-(D), ©)-(IV), (D)-{0)
(4)  (A)-IV), B)-(D), (O)-(ID), (D))
?122317122.8057. 1
212807128058. 2

212807128059. 3
212807128060. 4

Question Number : 635 Question Id : 21280732015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Telt-1 & -1 =1 figerr pifaa

o I
T snyfrer e diul (NGMA) ()  wifa Feae
(B) el S (I =T
Arifere et duge I i3 feeed
THGERA SF HIRT e (IV) &
A= fe mu feremedi § @ W S A B A
(1) (A, (BRI, (O-(ID, (D)-(IV)
(2) (A, (B)-(0), (-1, (D)}-(IV)
(3) (AN, B)-(I), (O-(IV), (D)-(I)
@) (AHIV), (B)-(D), (O-ID), (D)-(I1T)
S
212807128058. 2
212807128059. 3
212807128060. 4
Geography
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Break time : 0

Group Marks : 200

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
Geography

Section Id : 212807875

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 50

Number of Questions to be attempted : 40

Section Marks : 200

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2128072524

Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 636 Question Id : 21280732016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The humanisation of nature represents which of the following concept of man-environment
relationship ?

(1) Possibilism

(2) Determinism

(3) Neo-determinism
(4) Probablism

Options :

212807128061. 1
212807128062. 2
212807128063. 3
212807128064. 4

Question Number : 636 Question Id : 21280732016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

YTy = wretE, e § A, aee-wie sfadsy @) e sy i gl 82
(1) H9Harg

(2) Tvages
(3) TE-FrvEagR
(4) HRHRUER

Options :
212807128061. 1

212807128062. 2 _ Collegeduniag
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212807128063. 3
212807128064. 4

Question Number : 637 Question Id : 21280732017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The concept of Neo-determinism was propounded by
(1) Ellen C. Semple

(2) Ratzel

(3) Griffith Taylor

(4) Vidal de la Blache

Options :

212807128065. 1
212807128066. 2
212807128067. 3
212807128068. 4

Question Number : 637 Question Id : 21280732017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Hg-Troaoene 1 STy BR WEE ) 9 efi?
(1) e €. dra
(2) EEw
(3) Tuftre 2w
(4) Tasma € on s
Options :

212807128065. 1
212807128066. 2
212807128067. 3
212807128068. 4

Question Number : 638 Question Id : 21280732018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

is a sub-field of economic geography.
(1)
2)  Geography of Election
(3) Geography of Social Well-being
(4) Geography of Tourism

Geography of Leisure

—

Options :

212807128069. 1

212807128070. 2 .
212807128071, 3 W collegedunias
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212807128072. 4

Question Number : 638 Question Id : 21280732018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

sfdfs et 1w Ju-99 § 7

(1) STa=E & i

(2) Trates e

(3) wrefaresm smeRTon ST et
(4) A g

212807128069. 1
212807128070. 2
212807128071. 3
212807128072. 4

Question Number : 639 Question Id : 21280732019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following is an economic factor influencing the distribution of population ?

(1) Landforms
(2) Climate

(3) Soil

(4) Urbanisation

Options :

212807128073. 1
212807128074. 2
212807128075. 3
212807128076. 4

Question Number : 639 Question Id : 21280732019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

freg § & o ur we anfefes s, sden e o venfed e 22

(1) Y-SpTr
(2) g

(3) wWa
(4) T
Options :

212807128073. 1
212807128074. 2
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212807128075. 3
212807128076. 4

Question Number : 640 Question Id : 21280732020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The push factor of migration of population is
(1) Better living conditions

(2) Better job opportunities

(3) Natural Disasters

(4) Peace and stability

Options :

212807128077. 1
212807128078. 2
212807128079. 3
212807128080. 4

Question Number : 640 Question Id : 21280732020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
SHdEm warg w1 ufaed wE ¥

(1) @I-¥e +) Jgat gl
2) WM F YA ew
(3) wiglas srgnd
(&) i iR wenfas

Options :

212807128077. 1
212807128078. 2
212807128079. 3
212807128080. 4

—

Question Number : 641 Question Id : 21280732021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
In years World Population increased from 6 billion to 7 billion.
() 07
(2) 30
(3) 15
(4) 12
Options :

212807128081. 1
212807128082. 2 .
212807128083. 3 ~ collegedunlas
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212807128084. 4

Question Number : 641 Question Id : 21280732021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

oy § fave S99en 6 RE § 7 3" @ 1Y

(1 o7
(2) 30
(3) 15
@) 12

212807128081. 1
212807128082. 2
212807128083. 3
212807128084. 4

Question Number : 642 Question Id : 21280732022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

With respect to human development, continuity in the availability of opportunities means

(1) Equity
(2) Sustainability
(3) Productivity

{4) Empowerment

Options :

212807128085. 1
212807128086. 2
212807128087. 3
212807128088. 4

Question Number : 642 Question Id : 21280732022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
arger et % desd o srawdl o syasrm § Fréaar w0 ord g
(1) wHa
(2) W Ui
(3) SR
(4) HwfeRTERO
Options :

212807128085. 1
212807128086. 2 N collegeduniag
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212807128087. 3
212807128088. 4

Question Number : 643 Question Id : 21280732023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Primitive subsistence agriculture named ‘Ladang’ is widely practised in
(1) Mexico

(2) Indonesia

(3) Central America

(4) North eastern states of India

Options :

212807128089. 1
212807128090. 2
212807128091. 3
212807128092. 4

Question Number : 643 Question Id : 21280732023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

sfeerel Frafy oo, o “omei wea 8 A Togd w0 @ w1 ot B
(1) B

(2) grfera

(3) uex e

(4) wa % I g wdt

Options :

212807128089. 1
212807128090. 2
212807128091. 3
212807128092. 4

Question Number : 644 Question Id : 21280732024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The industries managed by private and public sectors together are called
(1) People sector industries

(2) Co-ordination sector industries

(3) Joint sector industries

(4) <Co-operative sector industries

Options :
212807128093. 1

212807128094. 2 _ Co]legeduniag
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212807128095. 3
212807128096. 4

Question Number : 644 Question Id : 21280732024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
ot ofit wrdafes &4 g0 WE ® | I UeY w9 W Erde G
(1) <M &3 g
(2) HEEH &3

(3) HYHE &3 T
(4) SEHIE &= IEw

Options :

212807128093. 1
212807128094. 2
212807128095. 3
212807128096. 4

Question Number : 645 Question Id : 21280732025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

High - tech industries which are regionally concentrated, self sustained and highly specialised are
called as :

(1) Technopolies
(2) Metropolis
(3) Megalopolis
(4) Conurbation

Options :

212807128097. 1
212807128098. 2
212807128099. 3
212807128100. 4

Question Number : 645 Question Id : 21280732025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

wo Wrenfirent sei o wiefoer wdfed § sncafrofar st Rrfrea fore @ g s @ s &
(1) drenfire ya

(2) HFTR
(3) Tavarrd
(4) TR
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Options :

212807128097. 1
212807128098. 2
212807128099. 3
212807128100. 4

Question Number : 646 Question Id : 21280732026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The Orient Express line runs between two terminal stations

(1) Perth and Sydney
(2) Paris and Istanbul

{3) New York and San Francisco

{4) New Delhi and Hawrah

Options :

212807128101. 1
212807128102. 2
212807128103. 3
212807128104. 4

Question Number : 646 Question Id : 21280732026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Sifede g oare € eyl

(1) uef 3 fas

(2) fw i wwiga

(3) FIERk I T Wil
(4) i3 fEeeh ot s

Options :

212807128101. 1
212807128102. 2
212807128103. 3
212807128104. 4

T qey Fqed §

Question Number : 647 Question Id : 21280732027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The Suez canal is constructed by

(1) Egypt
(2) Iran

(3) Panama
(4) Turcky

% collegedunias
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Options :

212807128105. 1
212807128106. 2
212807128107. 3
212807128108. 4

Question Number : 647 Question Id : 21280732027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
@ e oy BRI g R
(1) fam
2
(3) G
(4) TH
Options :

212807128105. 1
212807128106. 2
212807128107. 3
212807128108. 4

Question Number : 648 Question Id : 21280732028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A settlement emerging at the place where several roads converge gives a pattern.

(1) Star-shaped
(2) Circular

(3) T-shaped
(4) Y-shaped

Options :

212807128109. 1
212807128110.2
212807128111.3
212807128112. 4

Question Number : 648 Question Id : 21280732028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

% collegedunias
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Il 10T ST T W W fyerd & aet ey & asl fawfaa el 21
(1) T SIHR
(2) 9UERR

(3) T-3THN
(4) Y-S
Options :

212807128109. 1
212807128110. 2
212807128111.3
212807128112. 4

Question Number : 649 Question Id : 21280732029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
Jamshedpur is an example of town.
(1) Industrial
(2) Cultural
(3) Administrative
{4) Trading

Options :

212807128113. 1
212807128114.2
212807128115. 3
212807128116. 4

Question Number : 649 Question Id : 21280732029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
TR TH R o S8 & ]

(1) sihfirs
(2) wiepfas

(3) wwrEfeH
(4) SR
Options :

212807128113. 1
212807128114.2
212807128115. 3
212807128116. 4

Question Number : 650 Question Id : 21280732030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value

<
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|C0mprehensi0n

IMcQ

means ‘New Flower” ?

(1) Djibouti
(2) Addes Ababa
(3) Kilimanjaro

(4) DBotswana

Options :

212807128117. 1
212807128118.2
212807128119. 3
212807128120. 4

Question Number : 650 Question Id : 21280732030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ

{ ol el g’ B

(v o

(2) TR STaEn
(3) Taefrend
(4) dreEE

Options :

212807128117. 1
212807128118. 2
212807128119. 3
212807128120. 4

Question Number : 651 Question Id : 21280732031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following continents in decreasing order of their areas.
(A) Northern America

(B) Asia
(C) Africa
(D) Europe

Choose the correct answer from the options given below :

(1 B) (O, D) (A)
(2) (B) (©), (A) (D)
(3) (B) (A) (©), (D)
(4)  (B) (A), (D) (©)

Options :

212807128121. 1
212807128122.2
212807128123.3

collegedunias
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212807128124. 4

Question Number : 651 Question Id : 21280732031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
fre7 qEEdl &t 399 e & 920w § orafirg i
(A) IEd smfER

(B) ufdrm

(C) STHIEHI

(D) "

Taeq Tapredl 9§ @ W SR g

(1)  (B) (©), (D), (A)

(2) (B (O (A), (D)

(3) (B) (A) (O, (D)

(4) (B) (A), (D) (O

Options :
212807128121. 1

212807128122. 2
212807128123. 3
212807128124. 4

Question Number : 652 Question Id : 21280732032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Identify the following railway stations with respect to Tran-Siberian Railway.
(A) Moscow

(B) Chita

(C) Montreal

(D) Vladivostok

Choose the correct answer from the options given below :

(1) (&), (B),(©) only

(2) (&), (B), (D) only

(3) (&) (©), (D) only

(4) (B) () (D) only

Options :

212807128125. 1
212807128126. 2
212807128127.3
212807128128. 4

Question Number : 652 Question Id : 21280732032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1 QCOI Ieged un i as
India’s largest Student Review Platform



Question Key Details :

Key

'Value

Comprehension

MCQ

Sra-wrgafiad Yermel & ded § fae ded Reel it v

(A) W

(B) Taem
(C) wifge
(D) wenfediees

foret Py § & W s gfw
(1) &aet (A), (B), (O
(2) %94 (A), (B), (D)
(3) 9 (A), (C), (D)
(4) %9E (B), (O), (D)

Options :

212807128125. 1
212807128126. 2
212807128127.3
212807128128. 4

Question Number : 653 Question Id : 21280732033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify approaches to human development.

(A) Welfare
(B) Selective
(C) Capability

(D) Income

Choose the correct answer from the options given below :

(1) (B), (O (D) only
(2)  (A) (O, (D) only
(3) (A (B), (D) only
(4)  (A) (B), (C) only

Options :

212807128129. 1

212807128130. 2

212807128131. 3
212807128132. 4

Question Number : 653 Question Id : 21280732033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

.
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Qe Trere & SYPTHET 1 vgaig )

(A) T
(B) EHRTF
(C) &I
(D) o™

frer Parsped A & = s 9f
(1) 9a (B), (O), (D)
(2) F9d (A), (C), (D)
(3) Had (A), (B), (D)
(4) waE (A), (B), (O)

Options :

212807128129. 1
212807128130. 2
212807128131. 3
212807128132. 4

Question Number : 654 Question Id : 21280732034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - List-IT
(Sea Ports) (Country)
(A) Montevideo (I)  England
(B) Cape Town (I)  United States of America
(C) New Orleans (IlT) Uruguay
(D) London (IV) South Africa

Choose the correct answer from the options given below :
(1) A, B)-(0), (1Y), (D)-I)
(2) (AXID, B)-AV), (O, (D)0
() (A)-IV), B, ([O-[0), (DHI)
(4)  (A)-IV), B, €3I, (D)-0)

Options :

212807128133. 1
212807128134. 2
212807128135.3
212807128136. 4

Question Number : 654 Question Id : 21280732034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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g - 18 gt - 11 Y faeiga)
g - 1 gt - 11
TR T o

(A) Hiftfafedh o $ds

(B) &Y &rH () S o s
(O = snfetsy (Il &%

(D) ed (V) &fee sTsete
Foret forsred & & W o gy

(1) (A-IID), B}-(D), (O-(1V), (D)-(I)
(2) (A, (B)-(IV), (O)-(ID), (D)-()
(3) (A1), (B)-(I1D), (O)-@), (D)-(I)
(4) (A1), (B)-(IT), (C)-(IIT), (D)-(T)
2T,
212807128134. 2

212807128135. 3
212807128136. 4

Question Number : 655 Question Id : 21280732035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - IL
List - 1 List - II
(Period) (Approaches of Human Geography)

(A) 1930 through the Inter-war period () Post-modernism in geography

(B) Late 1950 to the late 1960 (I) Emergence of humanistic approach

(C) 1970s (IIT)  Areal differentiation

(D) 1990s (IV) Spatial organisation

Choose the correct answer from the options given below :
(1) (A1), B)-([D), (O-1ID), (D)-(IV)

(2) (A, B)-(IV), ([C)y-(D), (D)-(1I)

(3)  (A)-ID, (B)-(IV), (O-(I), (D)-(I)

(4) (A)yID, (B)-(D), (C-(IV), (D)-(I)

Options :

212807128137. 1

212807128138 2

212807128139.3
212807128140. 4

Question Number : 655 Question Id : 21280732035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : .
% collegedunias
India’s largest Student Review Platform



Key Value

Comprehension MCQ

Tqeft - 14 Gt - 11 ! faedsa)
Tl - 1
( T/ ATt )

(A) Sm-gg oy W =g 1930 # TwH
(B) 1950 % & % 3id q 1960 % T

EGAGED

(C) 1970 T W&

(D) 1990 T g9

ey Fyapedt & 9w S g

(1) (A, B)-(D), (OID), (D)-(IV)
(2) (AL, B)-(IV), ([C)-(1), (D)-(1I)
(3) (A)-D, (B)-(IV), (O)-(II), (D)-(I)
(4) (A)-ID, (B)-(D), (CO-(IV), (D)-(1)

Options :

212807128137. 1
212807128138. 2
212807128139. 3
212807128140. 4

et - 11
(AT Wi & IR )

(O e | SR-snyfeer

()  HEASIETE SUrTH (faaryr) &1 35

) Sty fadem
(avy el HeA

Question Number : 656 Question Id : 21280732036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which one of the following is NOT a characteristic of clustered settlements ?

(1) This type of settlement is generally found in fertile alluvial plains

(2) Clustered settlement is closely built up area of houses

(3) Clustered settlement unit are locally called nagla

{(4) Insome areas, people live in compact village for security

Options :

212807128141. 1
212807128142. 2
212807128143. 3
212807128144. 4

Question Number : 656 Question Id : 21280732036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

.
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e § @ o @ i afied 9 wh dva @ 8?7

(1) feqdl 1 98 YHR WP 30E Seitg Sert F rn s §
(2) feza gl od e Yforg g dmd

(3) ez w0 g e v F Fven w8 s §
(4) o &N, elfvr g wrool & ded i F 1wd €
NI

212807128142.2

212807128143.3
212807128144. 4

Question Number : 657 Question Id : 21280732037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the following towns is developed after independence ?
(1) Jaipur

(2) Lucknow

(3) Madurai

(4) Bhubneshwar

Options :

212807128145. 1
212807128146. 2
212807128147. 3
212807128148. 4

Question Number : 657 Question Id : 21280732037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
o7 § & S |1 TR Taaeaa o ong fasTad gen ?
(1) R
(2) dETS

(3) ugw
(4) EAVR

Options :

212807128145. 1
212807128146. 2
212807128147. 3
212807128148. 4

Question Number : 658 Question Id : 21280732038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value n i a:
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[Comprehension IMCQ
According to Census of India 2011, the population size 20,000-49,999 is put info
(1) Class IV town
(2) Class III town
(3) Class II town
(4) Class I town

Options :

212807128149. 1
212807128150. 2
212807128151. 3
212807128152. 4

Question Number : 658 Question Id : 21280732038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value

Comprehension MCQ

2011 & YRA &1 SEIVET 3 STJER 20,000-49,999 % SITHSAT STHR i of | e g
(1) IV TR

(2) IR

(3) &I

(4) TIFR

Options :

212807128149. 1
212807128150. 2
212807128151. 3
212807128152. 4

Question Number : 659 Question Id : 21280732039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

During which of the following pericds Jal Kranti Abhiyan was launched by Government of India ?
(1) 2015-16

(2) 2016-17

(3) 2017-18

(4) 2018-19
Options :

212807128153. 1
212807128154. 2
212807128155. 3
212807128156. 4

Question Number : 659 Question Id : 21280732039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

nia:
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IComprehension IMCQ

f1e1 § § foow srafy § 9Ra SR g1 e sl sifivama sy Teean e ?
(1) 2015-16
(2) 2016-17
(3) 2017-18
(4) 2018-19

Options :

212807128153. 1
212807128154.2
212807128155. 3
212807128156. 4

Question Number : 660 Question Id : 21280732040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Petroleum is referred to as due to its scarcity and diverse use,

(1) Liquid Gold

(2) Liquid Silver

(3) Liquid Platinum
(4) Pure Carbon

Options :

212807128157. 1
212807128158. 2
212807128159. 3
212807128160. 4

Question Number : 660 Question Id : 21280732040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Yo =t sa= gl o fafay wwdm & s EiS G
(1) & |

2) el =
3)

p——

(3) @a wfem
(4) & HE
Options :

212807128157. 1
212807128158. 2
212807128159. 3
212807128160. 4

Question Number : 661 Question Id : 21280732041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value

nia:
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|C0mprehensi0n IMCQ

Visvesvaraiya Iron and Steel Works Ltd. was initially known as
(1) Vizag Steel Plants

(2) Vijaynagar Iron and Steel Works

(3) Mysore Iron and Steel Works

(4) Durgapur Steel Plants

Options :

212807128161. 1
212807128162. 2
212807128163. 3
212807128164. 4

Question Number : 661 Question Id : 21280732041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fordeaien 319 s Wia awd fa. ) vt % AH F ST AR AT

(1) Taam &a wriz

(2) TESITR ST U € R
(3) P e o g e

(4) TN T T

Options :

212807128161. 1
212807128162.2
212807128163. 3
212807128164. 4

Question Number : 662 Question Id : 21280732042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The National Highways connecting Delhi to Kolkata was known by
(1) National Highway - 1
{2) National Highway - 2
(3) National Highway - 3
(4) National Highway - 4

Options :

212807128165. 1
212807128166. 2
212807128167. 3
212807128168. 4

Question Number : 662 Question Id : 21280732042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

nia:
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|C0mprehensi0n IMCQ

fooelt @ Hrctsmar 1 Sired el TE Hamnt % AH G SIS 4
(1) T waEnf - 1
(2) ety ugmpi - 2
(3) gt wemrl - 3
(4) T e - 4
Options :
212807128165. 1
212807128166. 2

212807128167. 3
212807128168. 4

Question Number : 663 Question Id : 21280732043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

After 1970, foodgrain import was replaced by
(1) Ore and Minerals

(2) Agriculture and allied Products

(3) Medicine and Pharma Products

(4) Fertilisers and Petroleum

Options :

212807128169. 1
212807128170. 2
212807128171.3
212807128172. 4

Question Number : 663 Question Id : 21280732043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
1970 3 &g WIFEIF AT & A fera

(1) o= i wirs

(2 Ffy o gesifig seurd
(3) wamnd o wrt Jeurg
(4) wdEn o Adform

Options :

212807128169. 1
212807128170. 2
212807128171. 3
212807128172. 4

Question Number : 664 Question Id : 21280732044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : W colle ged unias
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Key Value
Comprehension MCQ

Acid rain is caused due to
(1) Air pollution

(2) Water pollution

(3) Noise pollution

(4) Land pollution

Options :

212807128173. 1
212807128174. 2
212807128175. 3
212807128176. 4

Question Number : 664 Question Id : 21280732044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

31t ol w1 e ¥
(1) =7 HgEa
2) el Uguw
(3) waft wgww
(4) fwwgem

Options :

212807128173. 1
212807128174. 2
212807128175. 3
212807128176. 4

—

Question Number : 665 Question Id : 21280732045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Largest slum of Asia is in

(1) Delhi

(2) Mumbai

(3) Kolkata

(4) Chennai
Options :

212807128177. 1
212807128178. 2
212807128179.3
212807128180. 4

Question Number : 665 Question Id : 21280732045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

nia:
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|C0mprehensi0n IMCQ

ufern ) el wd ofm i qE)
(1) feeeh

(2) T

(3) epIETEHTEl

(4) W

Options :

212807128177. 1
212807128178. 2
212807128179. 3
212807128180. 4

Question Number : 666 Question Id : 21280732046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following landuse categories according to their ascending order of percentages of a
areal coverage (2014-15).

(A) Current Fallow

(B) Forests

(C) Barren and waste land

(D) Area under non-agricultural use

Choose the correct answer from the options given below :
(1) (&) (©), (D), (B)

(2) &) ©, B), D)

(3) ©), (A) (B). D)

(4) (O, (A), (D), (B)

Options :

212807128181. 1
212807128182. 2
212807128183. 3
212807128184. 4

Question Number : 666 Question Id : 21280732046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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SIS
(A) Ea wE gf
(B) dd
(C) wsR ud =9e iy

(D) wf el § wpm g (99)

e fapedi 4 8w s g .

(1 (&) ©), D) B)

(2) (A ©. B). D)

(3) ©. &), B) D)
)

) (
(4) (C), (A), (D), (B)

Options :

212807128181. 1
212807128182. 2
212807128183.3
212807128184. 4

Question Number : 667 Question Id : 21280732047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the fo]lowing oil refineries from west to east.

(A) Mathura
(B) Guwahati
(C) Digboi
(D) Barauni

Choose the correct answer from the options given below :

(1) (D) (A), (B), (O)
(2) (D) (A) (O, (B)
(3) (&) (D), (B), (O
4) (A) D) ) (B)
Options :

212807128185. 1

212807128186. 2

212807128187. 3
212807128188. 4

Question Number : 667 Question Id : 21280732047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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e det yarenst @ ufg | g o S F s § srafid st

(A) =g
(B) e
(€ fomr
(D) st

e fapedi § 8w s gf .

(1) (D) (A) (B), (O
2 D) (A) (O (B)
(3) (&) (D) (B) O
(4) (A) (D) O, (B)
Options :
212807128185. 1
212807128186. 2

212807128187.3
212807128188. 4

Question Number : 668 Question Id : 21280732048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following major ports on the western coast of India from North to South direction.

(A) Marmagao
(B) Mumbai

(C) Kandla
(D) Mangaluru

Choose the correct answer from the options given below :

(1) (&) (B),(©), (D)
(2) (B) (D) (A), (O
(3) Q. (B, (A) (D)
(4) (D) (A)(©), (B)

Options :

212807128189. 1
212807128190. 2
212807128191.3
212807128192. 4

Question Number : 668 Question Id : 21280732048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(A) wrHimSh
(B) T
(C) wigen
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1) (A (B), (), (D)
(2) (B) (D), (A) (O
(3) (©, B), (A), (D)
@) (D) (A) (©), B
Options :

212807128189. 1

212807128190. 2

212807128191. 3
212807128192. 4

Question Number : 669 Question Id : 21280732049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

As per location arrange the following International airports from east to west direction.

(A) Kolkata
(B) Amritsar
(C) Guwahati
(D) Delhi

Choose the correct answer from the options given below :

(1 A) ©), D), B)
(2) (A ©. B). D)
(3) ©. &), D), B)
(4) (©), (A) (B) (D)

Options :

212807128193. 1
212807128194. 2
212807128195. 3
212807128196. 4

Question Number : 669 Question Id : 21280732049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Terfer & stqam et st gens el =t g & uivem fawn 9 syafiem i)
(A) TRICTI

(B) SIHdW

(C) T

(D) feeedt

et faepedi 6 8w s gf .
1 A, ©, D) B)
(2) (A (O, (B), (D)

),
(3) ©. &), D), B
4 (©. &), B) D)

Options :

212807128193. 1
212807128194. 2
212807128195. 3
212807128196. 4

Question Number : 670 Question Id : 21280732050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Read the following statements about rice cultivation in India and identify the correct statements.
(A) There are about 3000 varieties of rice.

(B) Traditionally, it is a crop of tropical humid areas.

(C) Three crops of rice - aus, aman and boro are grown in green revolution area.

(D) Dry but irrigated areas of Punjab, Haryana and Western Uttar Pradesh grow rice.

Choose the correct answer from the options given below :

(1) (&), (B) and (C) only

(2) (A) (B) and (D) only

(3) (A), (©) and (D) only

(4) (B), (C) and (D) only

Options :

212807128197. 1
212807128198. 2
212807128199. 3
212807128200. 4

Question Number : 670 Question Id : 21280732050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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qrd ¥ =iael 1 HiY 9 grsifg Frer sl wufen aon o sue S ugEE S

(A) e R e 3000 Frad ¥

(B) ULRIETH Y W AG UH I R wfary wue g1

(C) ofte sl ardt dr & wraer 9 A7 wod ok, s ol IR T e §)

(D) dsyrel, gftaron i ufverdt Sor e o g dfse ffee i & srae s s d )
forey arped! § & W s g

(1) % (A), (B) 3 (O

(2) %aE (A), (B) 3 (D)

(3) %aE (A), (C) 3 (D)

(4) 9 (B), (C) 3R (D)

Options :

212807128197. 1
212807128198. 2
212807128199. 3
212807128200. 4

Question Number : 671 Question Id : 21280732051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Read the following statements about water demand and utilisation in India carefully and identify
the correct statements.

(A) Agriculture is the largest sector to utilise water for irrigation.

(B) Agriculture accounts for little less than 60% of surface water utilisation.
(C) Only 2% of surface water is utilised by industrial sector

(D) About 9% of surface water is utilised in domestic sector

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (), (B) and (D) only

(3) (A), (C) and (D) only

(4) (B), (C) and (D) only

Options :

212807128201. 1
212807128202. 2
212807128203. 3
212807128204. 4

Question Number : 671 Question Id : 21280732051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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R B et Y wi iR wednT F deod § et s # sy wh qe Wl s H) e w5t
(A) o ¥ foru st o1 sodm @ § $f vl et R ¥

(B)  Ff, yuwely S 3T H 60% | TS HW HEN W IR HE €

(C) HOTAa Sl 3 Haa 2% T Feew R I94rT R it R

(D) S 9% SRR et sy wRe] daee F €1

frer forsredl § & W@ o 9fn

(1) % (A), (B) 2 (O

(2) W (A), (B) ¥R (D)

(3) FEE (A), (C) 3 (D)

(4 ¥ (B), (O) ¥R (D)

Options :

212807128201. 1
212807128202. 2
212807128203. 3
212807128204. 4

Question Number : 672 Question Id : 21280732052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Read the following statements about Konkan railway carefully and identify the correct statements.
(A) It connects Mangalore in Maharashtra to Roha in Karnataka.

(B) It crosses 146 rivers, streams and nearly 2000 bridges.

(C) The states of Maharashtra, Gea and Karnataka are partners in this undertaking,.

(D) Itis 760 km long rail route.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

(3) (A), (O) and (D) only

(4) (B), (C) and (D) only

Options :

212807128205. 1
212807128206. 2
212807128207. 3
212807128208. 4

Question Number : 672 Question Id : 21280732052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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IR S & qed § T el ) sargds qfgu aen wdl e o) uga H
(A) % HERRE H e o Htes d e 4 shrea £
(B) 4 146 e, wrsii den 2000 ekl Y IR HTE § 1
(C) 74 v H aerarg, Wen ot welesw W wniigr €

(D) =g 760 T, o Yerand &1
fore el § & T o P
(1) % (A), (B) IR (O)

(2) A (A), (B) IR (D)

(3) wFE (4), () (D)

(4 % (B), (C) #R (D)

Options :

212807128205. 1
212807128206. 2
212807128207. 3
212807128208. 4

Question Number : 673 Question Id : 21280732053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - I List - IT
(Iron Ore Mines) (States)
(A) Ratnagiri (l  Maharashtra
(B) Kudiemukh (I) Jharkhand
(C) Bailadila (IlT) Chattisgarh
(D) Noeamundi (IV) Karnataka

Choose the correct answer from the options given below :
1 (A0, B)-I), (O-(1I), (DHIV)

(2) (A1), BRI, (O-D), (D)-0)
(3) A, (BRUD, (C-1V), (D
4) (A1), BRIV), (O-(I0), (D}-(I)

Options :

212807128209. 1
212807128210. 2
212807128211. 3
212807128212. 4

()

Question Number : 673 Question Id : 21280732053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Read the passage and answer the following question.

Market gardening and horticulture specialise in the cultivation of high value crops such as
vegetables, fruits and flowers, solely for the urban markets. Farms are small and are located where
there are good transportation links with the urban centre where high income group of consumers
is located. It is both labour and capital intensive and lays emphasis on the use of irrigation, HYV
seeds, fertilisers, insecticides, greenhouses and artificial heating in colder regions.

This type of agriculture is well developed in densely populated industrial districts of north
west Europe, north eastern United States of America and the Mediterranean regions. The
Netherlands specialises in growing flowers and horticultural crops especially tulips, which are
flown to all major cities of Europe.

The regions where farmers specialise in vegetables only, the farming is know as truck farming,.
The distance of truck farms from the market is governed by the distance that a truck can cover
overnight, hence the name truck farming,

In addition to market gardening, a modern development in the industrial regions of Western
Europe and North America is factory farming. Livestock, particularly poultry and cattle rearing is
done in stalls and pens, fed on manufactured feedstuff and carefully supervised against diseases.
This requires heavy capital investment in terms of building, machinery for various operations,
veterinary services and heating and lighting. One of the important features of poultry farming
and cattle rearing is breed selection and scientific breeding.

Market gardening and horticulture specialise in the cultivation solely for the
(1) Competitive markets

{2) Urban markets

(3) Community markets

(4) International markets

Options :
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Read the passage and answer the following question.

Market gardening and horticulture specialise in the cultivation of high value crops such as
vegetables, fruits and flowers, solely for the urban markets. Farms are small and are located where
there are good transportation links with the urban centre where high income group of consumers
is located. It is both labour and capital intensive and lays emphasis on the use of irrigation, HYV
seeds, fertilisers, insecticides, greenhouses and artificial heating in colder regions.

This type of agriculture is well developed in densely populated industrial districts of north
west Europe, north eastern United States of America and the Mediterranean regions. The
Netherlands specialises in growing flowers and horticultural crops especially tulips, which are
flown to all major cities of Europe.

The regions where farmers specialise in vegetables only, the farming is know as truck farming,.
The distance of truck farms from the market is governed by the distance that a truck can cover
overnight, hence the name truck farming,

In addition to market gardening, a modern development in the industrial regions of Western
Europe and North America is factory farming. Livestock, particularly poultry and cattle rearing is
done in stalls and pens, fed on manufactured feedstuff and carefully supervised against diseases.
This requires heavy capital investment in terms of building, machinery for various operations,
veterinary services and heating and lighting. One of the important features of poultry farming
and cattle rearing is breed selection and scientific breeding.

Which of the following is NOT associated with market gardening and horticulture ?
(1) Good transportation to market

(2) High income group consumer

(3) Large sized farms

(4) Near to urban centres

Options :
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Read the passage and answer the following question.

Market gardening and horticulture specialise in the cultivation of high value crops such as
vegetables, fruits and flowers, solely for the urban markets. Farms are small and are located where
there are good transportation links with the urban centre where high income group of consumers
is located. It is both labour and capital intensive and lays emphasis on the use of irrigation, HYV
seeds, fertilisers, insecticides, greenhouses and artificial heating in colder regions.

This type of agriculture is well developed in densely populated industrial districts of north
west Europe, north eastern United States of America and the Mediterranean regions. The
Netherlands specialises in growing flowers and horticultural crops especially tulips, which are
flown to all major cities of Europe.

The regions where farmers specialise in vegetables only, the farming is know as truck farming,.
The distance of truck farms from the market is governed by the distance that a truck can cover
overnight, hence the name truck farming,

In addition to market gardening, a modern development in the industrial regions of Western
Europe and North America is factory farming. Livestock, particularly poultry and cattle rearing is
done in stalls and pens, fed on manufactured feedstuff and carefully supervised against diseases.
This requires heavy capital investment in terms of building, machinery for various operations,
veterinary services and heating and lighting. One of the important features of poultry farming
and cattle rearing is breed selection and scientific breeding.

The Netherlands specialises in growing which of the following flowers ?
(1) Rose

(2) Tulips

(3) Sunflower

(4) Marigold

Options :
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Read the passage and answer the following question.

Market gardening and horticulture specialise in the cultivation of high value crops such as
vegetables, fruits and flowers, solely for the urban markets. Farms are small and are located where
there are good transportation links with the urban centre where high income group of consumers
is located. It is both labour and capital intensive and lays emphasis on the use of irrigation, HYV
seeds, fertilisers, insecticides, greenhouses and artificial heating in colder regions.

This type of agriculture is well developed in densely populated industrial districts of north
west Europe, north eastern United States of America and the Mediterranean regions. The
Netherlands specialises in growing flowers and horticultural crops especially tulips, which are
flown to all major cities of Europe.

The regions where farmers specialise in vegetables only, the farming is know as truck farming,.
The distance of truck farms from the market is governed by the distance that a truck can cover
overnight, hence the name truck farming,

In addition to market gardening, a modern development in the industrial regions of Western
Europe and North America is factory farming. Livestock, particularly poultry and cattle rearing is
done in stalls and pens, fed on manufactured feedstuff and carefully supervised against diseases.
This requires heavy capital investment in terms of building, machinery for various operations,
veterinary services and heating and lighting. One of the important features of poultry farming
and cattle rearing is breed selection and scientific breeding.

Farming where farmers specialise in growing only vegetables is known as
(1) Truck farming

(2) Factory farming

(3) Apiculture

(4) Horticulture
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Read the passage and answer the following question.

Market gardening and horticulture specialise in the cultivation of high value crops such as
vegetables, fruits and flowers, solely for the urban markets. Farms are small and are located where
there are good transportation links with the urban centre where high income group of consumers
is located. It is both labour and capital intensive and lays emphasis on the use of irrigation, HYV
seeds, fertilisers, insecticides, greenhouses and artificial heating in colder regions.

This type of agriculture is well developed in densely populated industrial districts of north
west Europe, north eastern United States of America and the Mediterranean regions. The
Netherlands specialises in growing flowers and horticultural crops especially tulips, which are
flown to all major cities of Europe.

The regions where farmers specialise in vegetables only, the farming is know as truck farming,.
The distance of truck farms from the market is governed by the distance that a truck can cover
overnight, hence the name truck farming,

In addition to market gardening, a modern development in the industrial regions of Western
Europe and North America is factory farming. Livestock, particularly poultry and cattle rearing is
done in stalls and pens, fed on manufactured feedstuff and carefully supervised against diseases.
This requires heavy capital investment in terms of building, machinery for various operations,
veterinary services and heating and lighting. One of the important features of poultry farming
and cattle rearing is breed selection and scientific breeding.

Which of the following is NOT the characteristics features of factory farming ?
{1) Mainly practised in the industrial regions of Western Europe.

(2) Poultry and Cattle rearing is done in stalls and pens.

(3) It requires smaller capital to start factory farming,.

(4) Breed selection and scientific breeding are very tmportant features.
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Read the given passage carefully and answer the following question.

An important aspect of population growth in India is the growth of its adolescents. At
present, the share of adolescents i.e., up to the age group of 10-19 years is about 20.9 per cent
(2011), among which male adolescents constitute 52.7 per cent and female adolescents constitute
47.3 per cent. The adolescent population, though, regarded as the youthful population having
high potentials, but at the same time they are quite vulnerable if not guided and channelised
properly. There are many challenges for the society as far as these adolescents are concerned,
some of which are lower age at marriage, illiteracy - particularly female illiteracy, school dropouts,
low intake of nutrients, high rate of maternal mortality of adolescent mothers, high rate of HIV
and AIDS infections, physical and mental disability or retardedness, drug abuse and alcoholism,
juvenile delinquency and commitence of crimes, etc.

In view of these, the Government of Indra has undertaken certain policies to impart proper
education to the adolescent groups so that their talents are better channelised and properly utilised.
The National Youth Policy is one example which has been designed to look into the overall
development of our large youth and adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic “vision’
for the youth of Indra, which is “To empower the youth of the country to achieve their full potential,
and through them enable India to find its rightful place in the community of nations”. The
NYP-2014 has defined “youth as persons in the age group of 15-29 years.

According to the National Youth Policy - 2014, youth is considered as persons falling in the age
group of .
(1) 10-15 years
(2) 10 - 29 years
(3) 12- 15 years
(4) 15- 29 years
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ITENTT T SAYaeh Uigq i Fe1 w1 3R it

vRd § SHEen gig o U Hecayyt vy susn feedd wr frerm 81 Fdam O Rl svefa 10-19 o
T 3 9 T 39 20.9 whae | (2011), Frwd 52.7 wfewa Rrei ol 47.3 wirera frofol afafa €
et steiee, wafy g=1 gyraredl | g gan e gugl o ], ofe 5% ggfag &n @ gefefifa ol
feen FrEfer = fram e o A e gAY (valnerable) S8R 1 S e 3 Toneil o1 Wiy ¥ 9w ¥ wHy
3 el & R & o Torame 3w frey oy, Freaear-Ferdrwan e} Feereen, Rrerrera fareaestst (school
dropout), 9wl &1 Fret T, freld araell § = urg gy <X, vl /ugw F g #5199 &,
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T aedi 1 giend T g 9Ra @R A e il & sugEa fren wem +@ % faw g fafvaa
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weare vl 81 20 gensi R sraf gt srmen st Iwd A & fore www s ol S B YRGB
T % og U ofe s o ww 0§ gy w9 81w g i 2014, 1520 s F g wE S
=1t g’ % v § uftenfya e €

T et Af-2014 F HTER, 1Y WHE S SRR e o T R
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(3) 12-157%

(4) 15-29 94
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Read the given passage carefully and answer the following question.

An important aspect of population growth in India is the growth of its adolescents. At
present, the share of adolescents i.e., up to the age group of 10-19 years is about 20.9 per cent
(2011), among which male adolescents constitute 52.7 per cent and female adolescents constitute
47.3 per cent. The adolescent population, though, regarded as the youthful population having
high potentials, but at the same time they are quite vulnerable if not guided and channelised
properly. There are many challenges for the society as far as these adolescents are concerned,
some of which are lower age at marriage, illiteracy - particularly female illiteracy, school dropouts,
low intake of nutrients, high rate of maternal mortality of adolescent mothers, high rate of HIV
and AIDS infections, physical and mental disability or retardedness, drug abuse and alcoholism,
juvenile delinquency and commitence of crimes, etc.

In view of these, the Government of Indra has undertaken certain policies to impart proper
education to the adolescent groups so that their talents are better channelised and properly utilised.
The National Youth Policy is one example which has been designed to look into the overall
development of our large youth and adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic “vision’
for the youth of Indra, which is “To empower the youth of the country to achieve their full potential,
and through them enable India to find its rightful place in the community of nations”. The
NYP-2014 has defined “youth as persons in the age group of 15-29 years.

National Youth Policy was launched in :
(1) January 2014
(2) February 2014
(3) April 2014
(4) May 2014
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IRNYT T SATYdeh ufgu 3R Frer woe a1 3w i

g H SHEen gig o U Herayyt vy sus feetd wr frwra €1 wdam § fEard evef 10-19 ad
ST 3Ty T T 399 20.9 whae & (2011), Frwd 52.7 wfewa Reen i 47.3 whtera el wfifa &
Feruie sefe, Tt 3= daraaell 9 o gan saden gae o 8, afg o wgfad &0 § arfkefia ol
feen FrEfer = fran st o 2 e gAY (valnerable) St 80 1 S e 3 Fneidl o1 Wiy ¥ o9 ¥ way
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v vl 81 20 B gensi Y sraf gt srmen st Swd A & fore www s ol S B WRE
ol & oy § sro sfu wr we S F gy w17 o g iy 2014, 1520 s F g ae ®
wyfie @ e’ & wy F i et &
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Read the given passage carefully and answer the following question.

An important aspect of population growth in India is the growth of its adolescents. At
present, the share of adolescents i.e., up to the age group of 10-19 years is about 20.9 per cent
{2011), among which male adolescents constitute 52.7 per cent and female adolescents constitute
47.3 per cent. The adolescent population, though, regarded as the youthful population having
high potentials, but at the same time they are quite vulnerable if not guided and channelised
properly. There are many challenges for the society as far as these adolescents are concerned,
some of which are lower age at marriage, illiteracy - particularly female illiteracy, school dropouts,
low intake of nutrients, high rate of maternal mortality of adolescent mothers, high rate of HIV
and AIDS infections, physical and mental disability or retardedness, drug abuse and alcoholism,
juvenile delinquency and commitence of crimes, etc.

In view of these, the Government of Indra has undertaken certain policies to impart proper
education to the adolescent groups so that their talents are better channelised and properly utilised.
The National Youth Policy is one example which has been designed to look into the overall
development of our large youth and adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic “vision’
for the youth of Indra, which is “To empower the youth of the country to achieve their full potential,
and through them enable India to find its rightful place in the community of nations”. The
NYP-2014 has defined "youth as persons in the age group of 15-29 years.

is the difference between male and female adolescents, according to 2011 census ?

(1) 3.4%
(2) 4.4%
(3) 5.4%
(4) 6.4%
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IRNYT T SATYdeh ufgu 3R Frer woe a1 3w i

g H SHEen gig o U Heayyt vy sus feetd wr frewra €1 wdam § fEard evef 10-19 ad
ST 3T w9 T 399 20.9 whre & (2011), Frwd 52.7 wfew Reen i 47.3 whtera el wfifa &
Feruie sefe, Tt 3= daraaell 9 o gan saden gae o 8, afg o wgfad &0 § arfkefia ol
e Fréfina =1 feran sire ot & wER) gAY (vulnerable) ot 971 &1 <Y a5 37 Rretedl o5t ey § e & |gw
A et § R & o Torame 3w frey oy, Freaear—Ferdhwanof) Frereen, Rrerera freaesnst (school
dropout), TR &1 et rarn, frelrd araell § o= vy 9oy <X, wEL LAl /uegw F Eham 1 99 &,
g

39 a2l R gReTR T g YRG SRR A TRe ol ) Suys e wem 7 % fou ge fPfved
et o ¥ wife Sem il ot gt anfeddn ok Swyes S fean o @ ol g i ww
FEm & ol wand foremen, gt ok foneine s & wam e ) Yt ¥ stfvefeqa T v g1

[T g g (NYP-2014) SR 2014 § IR &Y 7 ¥ S uwg & garel & fom v woy geaeh
v vl 81 20 B gensi Y sraf gt srmen st Swd A & fore www s ol S B WRE
ol & oy § oo sfu wr we S F ghy w817 oy g fify 2014, 1520 s F g ae ®
wfa @ g’ 3 ww F ufvnfya e &

2011 6T SFHTFT % 1FER g&y iR wfgen feeidl 1 s g1
(1) 3.4%
(2) 4.4%
(3) 5.4%
(4) 6.4%
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Read the given passage carefully and answer the following question.

An important aspect of population growth in India is the growth of its adolescents. At
present, the share of adolescents i.e., up to the age group of 10-19 years is about 20.9 per cent
(2011), among which male adolescents constitute 52.7 per cent and female adolescents constitute
47.3 per cent. The adolescent population, though, regarded as the youthful population having
high potentials, but at the same time they are quife vulnerable if not guided and channelised
properly. There are many challenges for the society as far as these adolescents are concerned,
some of which are lower age at marriage, illiteracy - particularly female illiteracy, school dropouts,
low intake of nutrients, high rate of maternal mortality of adolescent mothers, high rate of HIV
and AIDS infections, physical and mental disability or retardedness, drug abuse and alcoholism,
juvenile delinquency and commitence of crimes, etc.

In view of these, the Government of Indra has undertaken certain policies to impart proper
education to the adolescent groups so that their talents are better channelised and properly utilised.
The National Youth Policy is one example which has been designed to look into the overall
development of our large youth and adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic “vision’
for the youth of Indra, which is “To empower the youth of the country to achieve their full potential,
and through them enable India to find its rightful place in the community of nations”. The
NYP-2014 has defined “youth as persons in the age group of 15-29 years.

The main objective of Nation Youth Policy is

(1) Overall development of all male youths and adolescents

(2) Overall development of all female youths and adolescents
(3) Overall development of all school and college going children
(4) Overall development of all youths and adolescents
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ITENTT T SAYaeh Uigq i Fe1 w1 3R it

vRd § SHEen gig o uh Hecayyt vy sus fredd = frerm 81 Fdam O Rl svefa 10-19 w4
T 3 9 T 39 20.9 whae | (2011), Frwd 52.7 wfewa Brei ot 47.3 witera frofol afafa €
et steiee, wafy g=1 gyraredl | g gan e gugl o ], ofe 5% ggfag &n @ gefefifa ol
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T aedi 1 giend T g 9Ra @R A e il & sugEa fren wem +@ % faw g fafvaa
et o € wilte S ol o Seae wrledd i Sugs Swl e o w@d ) wsd g Hif wr
e & g ead fororer, g odk Rpeine s & wam e Y Yt B9 stfrefea T wan €1

[T g ifg (NYP-2014) W 2014 § o7rsT &Y 7 ¥ 5 swg & el & foru we wwy goaefi
weare vl 81 20 gensi R sraf gt srmen st Iwd A & fore www s ol S B YRGB
T % og U ofe s o ww 1§ gy w9 817 v g iy 2014, 1520 F g wE S
=1t g’ % v § uftenfya e €

T e e w1 e @ B

(1) st ey gardl sl fersirdl =t wabdtor fassrg

(2) | e garsh ol freiidl (forsifedl) w1 wabio fasrm
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(4) st ganed ST freidl =1 gatiiio fasm
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Read the given passage carefully and answer the following question.

An important aspect of population growth in India is the growth of its adolescents. At
present, the share of adolescents i.e., up to the age group of 10-19 years is about 20.9 per cent
(2011), among which male adolescents constitute 52.7 per cent and female adolescents constitute
47.3 per cent. The adolescent population, though, regarded as the youthful population having
high potentials, but at the same time they are quife vulnerable if not guided and channelised
properly. There are many challenges for the society as far as these adolescents are concerned,
some of which are lower age at marriage, illiteracy - particularly female illiteracy, school dropouts,
low intake of nutrients, high rate of maternal mortality of adolescent mothers, high rate of HIV
and AIDS infections, physical and mental disability or retardedness, drug abuse and alcoholism,
juvenile delinquency and commitence of crimes, etc.

In view of these, the Government of Indra has undertaken certain policies to impart proper
education to the adolescent groups so that their talents are better channelised and properly utilised.
The National Youth Policy is one example which has been designed to look into the overall
development of our large youth and adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic “vision’
for the youth of Indra, which is “To empower the youth of the country to achieve their full potential,
and through them enable India to find its rightful place in the community of nations”. The
NYP-2014 has defined “youth as persons in the age group of 15-29 years.

Adolescents are age group of persons.
(1) 10 - 13 years

(2) 10-15 years

(3) 10-19 years

(4) 10 - 25 years
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IRNYT T SATYdeh ufgu 3R Frer woe a1 3w i

g H SHEen gig o U Heayyt vy sus feetd wr frewra €1 wdam § fEard evef 10-19 ad
ST 3T w9 T 399 20.9 whre & (2011), Frwd 52.7 wfew Reen i 47.3 whtera el wfifa &
Feruie sefe, Tt 3= daraaell 9 o gan saden gae o 8, afg o wgfad &0 § arfkefia ol
e Fréfina =1 feran sire ot & wER) gAY (vulnerable) ot 971 &1 <Y a5 37 Rretedl o5t ey § e & |gw
A et § R & o Torame 3w frey oy, Freaear—Ferdhwanof) Frereen, Rrerera freaesnst (school
dropout), TR &1 et rarn, frelrd araell § o= vy 9oy <X, wEL LAl /uegw F Eham 1 99 &,
g

39 a2l R gReTR T g YRG SRR A TRe ol ) Suys e wem 7 % fou ge fPfved
et o ¥ wife Sem il ot gt anfeddn ok Swyes S fean o @ ol g i ww
FEm & ol wand foremen, gt ok foneine s & wam e ) Yt ¥ stfvefeqa T v g1

[T g g (NYP-2014) SR 2014 § IR &Y 7 ¥ S uwg & garel & fom v woy geaeh
v vl 81 20 B gensi Y sraf gt srmen st Swd A & fore www s ol S B WRE
ol & oy § oo sfu wr we S F ghy w817 oy g fify 2014, 1520 s F g ae ®
wyfie @ e’ & wy F i et &

ferei 31y Wy % oafm )
(1) 1091354

(2) 109158

(3) 108199y

(4) 1092599
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